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9 To Find the diffevence of +two uectors of the

Ssame Size :

Example (1) :

e

as B3 % 4 2 ilia
ss di=- B_.Dg
dil—=
-2 -1 1 0 =&
A ﬁlz_;D_—_B_xJ
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Examlla’e 2]

as b o=[23451]54




7). To Finol the element of the minimum uvalue of |

the vector : .

Exam’n/e . .

NN mi=wmin(D) ]
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| the vector : B
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the same Size :
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—Ias D[54 3 2 9];4

AN = R.*xD

w = — e}
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Quﬁjimm_Creaufz_,z%e .Faﬂou)mi vectors in MATLAB

| commanedls :

1) Rounodl the elements of the vector a L‘o the neavest |

a =00 0.3 —1.2 3.9 =4) ano(_da_i‘bLfaﬂam:n;

org‘?ram

L Jn_f_eg.cr_ _f‘_aw.auco{_zeria .

2) Roundl the elements of the vector a to the nearest |

_imf%.er_ toward —oo .

___.3)._R_aun_aiih¢ elements of the vector a to the neavest

. ..[n.f,eﬁ.e,r _to.w.aﬁal_..lLao_._

4) Rounﬂl_tbLefemeﬂ ts of the vec tar a_foﬂfhg_nm vest

. m.iei.czr ;

.5)_841,9_lﬁ_ﬂm_Suifa.hlgiuﬂgﬁan_io_,sbﬁm_mbgibﬁuacL

| element of the vector a is _,oas.:.'.t;_ve_ .ar_n%qaﬁue__aﬁ_
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Fix(a) <l

ans._—=

0 0 -1 3 -4
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ans —

0 0 -2 3 -4

ans =

~0 0 -I 4 -4
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Matrices :

EPAN0 L v S B S

L An mxn_ matrix A is a _r&ctanc_?_u/gz_, arm? of mn

| real numbers _qu%eal in m horizontal rows and .

Vertical columns :

-
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. the jth column of A is La,t (14 jen). |
el —— _—
- J_ -

| Form the _m:.xm_d_iainﬂal of A . We refey to the

_le;ﬂ_.,_wc_ﬁaﬁ_that_B_is -a_sgquare matrix of
_oxd.er_n_,_anol_t}nnt_the_._nu mbers A, , 0y, ,ueny Ay

Remark : We. Shall_dai_.ibai; A Is mxn matyvix . |




n umbLatj_,_mbiﬁh_js_inIhLifh_mw_ana( jth column

#entv_of_ﬂ_,_and_wcﬂaﬁéen_wriée G as A=La.].4

QLEL_,_aS“Z" /J;_A,#J_tb_e/mn_f_oLQ_,_ar__thLLL,,d_)__

s —

*_D_B_;{' 3 s . a 2x2 matrix _.af_B_.f.s_a,J?uazA___
5 o
matrix of order 2
r-l 1_
2) C=13+5 is a 3x2 wmatrix .
7 4

MATLAB 0\ 2\sp & = Mogaall AZN]

__ﬁ_Czea _MQHJMLM_BILBB_EEQﬁmm :

MATLARB 1t ')’l = Q_%_r.\__a&u\—wﬁll :
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Example :
2N 0 = saascal (3)
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S #g..;;Z;z.;zo,s_(Ls)_eL :
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— {Jdentity Matrix) myls Ziias SE3E eye  Sl> (o

—__EMMPI es :
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Answer :

T P s

as A=[12 3,45 4789];

>> Al = 4riu(A)
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matyix | 2 3
W. =14 5 §
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Answer ;

Ax W=L12 3545 £;,7839]

W —




